Math Numbers Operations and Algebra 5_5

Student Name:

Date:

Ben has $1.25 in quarters.

How many quarters does he have?

5,261

Which is in the 100's place?

How many can she drink in 1 hour?

Ruby drinks 4 juice boxes in 2 hours.

A pizza has 8 pieces.
2 friends share it evenly.

How many pieces does each one get?

A. 4x2
B.4+2

C. 2)F




50+10=5
16)320
500+10=__

A. 32 A. 100

B. 160 B. 150

C. 20 C. 50

7 8.

6 pounds of flour cost $12.00.
How much is 1 pound? 2)532

Which answer form is best?

A. $2.00 A. 532
B. 2 answers B. 266
C. 2 pounds C. 166



5)307

A. 61 R3
B. 60 R1
C. 61 R2

1.

00000
WHU

o—(0)—-=

100 kids 4 buses

How many kids in each bus?

A. 4 x 100
B. 100 + 4
C. 100 +4

10.
9)2,745
A. 324
B. 339
C. 305
12.
6)84
A 14
B. 12

C. 16




13.

4001=

A. (400 x 10) + 1
B. (40 x 40) + 1
C. 4000 x 1

15.

20.7 + 6.6 is about =

A . 21+6
B. 21+7
C.20+6

14.

Sara buys 4 gifts for $46.00.
Each gift costs the same.

How much does each gift cost?

A. $4.60
B. $11.50
C. $11.00

16.

8)478

What is the first step?

A.7+8
B. 47 +8
C.74+8
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